0-0-13 (GreenPoint AG)

Name Potatoes - Fertilizers	Timing Event Pre-Plant	Target Date Total Product	Total Product 3,409.94 gal t: 3,409.94	Cost / Acre \$2.90 Total Cost:	Total Cost \$1,976.78 \$1,976.78
10-34-0 (Fert_D	ist)				
Name Almonds - 10-34-0 Almonds - Inspire Super Almonds - 10-34-0 Almonds - 10-34-0	Timing Event Growing Growing Growing Growing	Target Date Total Product	Total Product 6.58 ton 6.58 ton 6.58 ton 6.58 ton 6.58 ton 26.31	\$16.00 \$16.00 \$16.00 \$16.00 \$16.00	\$4,471.00 \$4,471.00 \$4,471.00 \$4,471.00 \$17,884.00
11-37-0 - Mears	Fertilizer Inc	(Mears Fert	ilizer Inc)		
Name Potatoes - Fertilizers	Timing Event Pre-Plant	Target Date Total Product	Total Product 79.79 ton t: 79.79	Cost / Acre \$79.83 Total Cost:	Total Cost \$54,441.12 \$54,441.12
12-0-026S (Fert	_Dist)				
Name Potatoes - Fertilizers	Timing Event Pre-Plant	Target Date Total Product	Total Product 3.70 ton t: 3.70	Cost / Acre \$1.30 Total Cost:	Total Cost \$887.87 \$887.87
28-0-0 (Fert_Dis	st)				
Name Potatoes - 28-0-0	Timing Event	Target Date Total Product	Total Product 327.83 ton t: 327.83	Cost / Acre \$0.00 Total Cost:	**Total Cost
46-0-0 (Fert_Di	st)				
Name Potatoes - Urea Application	Timing Event	Target Date	Total Product 34.10 ton	Cost / Acre \$27.00	Total Cost \$18,413.66
		Total Product	t: 34.10	Total Cost:	\$18,413.66
Agri-Mek SC (S	yngenta)				
Name Potatoes - Aerial Spray	Timing Event	Target Date Total Product	Total Product 21.31 gal t: 21.31	Cost / Acre \$9.75 Total Cost:	Total Cost \$6,648.72 \$6,648.72

Alion (CA) Herbicide (Bayer CropScience)

Name Almonds - Broadworks & Alion	Timing Event Growing	Target Date	Total Product 10.92 gal	Cost / Acre \$74.89	Total Cost \$20,928.00		
		Total Product	1: 10.92	Total Cost:	\$20,928.00		
Amistar Top (S)	/ngenta)						
Name Potatoes - Aerial Spray	Timing Event	Target Date	Total Product 34.63 gal	Cost / Acre \$15.49	Total Cost \$10,562.81		
		Total Product	t: 34.63	Total Cost:	\$10,562.81		
Ammonium Sul	fate 21-0-0 (J	R Simplot C	ompany)				
Name Potatoes - Urea	Timing Event	Target Date	Total Product 68,198.74 lb	Cost / Acre \$21.00	Total Cost \$14,321.74		
Application		Total Product	68,198.74	Total Cost:	\$14,321.74		
Ammonium Thi	iosulfate 12-0-	-0 (Poole Ch	nemical Company,	Inc.)			
Name Wheat - Top Dress	Timing Event	Target Date	Total Product 1,410.66 gal	Cost / Acre \$1.70	Total Cost \$2,398.13		
•		Total Product	•	Total Cost:	\$2,398.13		
AMS Plus Dry (Coastal Chem	ical Corpora	ation)				
Name Potatoes - Regione	Timing Event Growing	Target Date	Total Product 2,912.09 lb	Cost / Acre \$1.41	Total Cost \$960.99		
r otatoes - regione	Growing	Total Product		Total Cost:	\$960.99		
Axial Star (Syngenta)							
Name	Timing Event	Target Date	Total Product	Cost / Acre \$17.45	Total Cost		
Wheat - Weed Spraying		Total Product	180.74 gal _{l:} 180.74	φ 17.45 Total Cost:	\$24,616.79 \$24,616.79		
Besiege (Synge	nta)						
Name	Timing Event	Target Date	Total Product	Cost / Acre	Total Cost		
Almonds - Besiege	Growing	Total Product	27.29 gal _{t:} 27.29	\$24.41 Total Cost:	\$6,822.17 \$6,822.17		

Boron 10 (Fertilizer Company of Arizona, Inc.)

Name Potatoes - Fertilizers Britz 415 Supre	Timing Event Pre-Plant Me Spray Oil Timing Event Growing	Target Date	Zers, Inc.) Total Product 279.44 gal	Cost / Acre \$7.32 Total Cost: Cost / Acre \$7.00	Total Cost \$4,989.17 \$4,989.17 Total Cost \$1,956.05		
Broadworks (Sy	maenta)	Total Produc	_{[:}	Total Cost:	\$1,956.05		
DIOadworks (3)	rigerita)						
Name Almonds - Broadworks & Alion	Timing Event Growing	Target Date	Total Product 13.10 gal	Cost / Acre \$60.00	Total Cost \$16,766.16		
Allon		Total Produc	13.10	Total Cost:	\$16,766.16		
Buffer P.S. (Hele	ena Chemical	Company)					
Name Wheat - Fungicide and Zinc	Timing Event	Target Date	Total Product 11.02 gal	Cost / Acre \$0.06	Total Cost \$85.96		
ZIIIC		Total Produc	11.02	Total Cost:	\$85.96		
Chloronil 720 (S	Syngenta)						
Name Potatoes - Omega Application	Timing Event	Target Date	Total Product 170.50 gal	Cost / Acre \$11.00	Total Cost \$7,501.86		
дринации		Total Produc	t: 170.50	Total Cost:	\$7,501.86		
Clinch (Syngenta)							
Name Almonds - Clinch - Ant Bait	Timing Event Growing	Target Date	Total Product 279.44 lb	Cost / Acre \$12.74	Total Cost \$3,560.01		
Dait		Total Produc	t: 279.44	Total Cost:	\$3,560.01		
CruiserMaxx Potato Extreme (Syngenta)							
Name Potatoes - Planting	Timing Event	Target Date	Total Product 38.89 gal	Cost / Acre \$34.84	Total Cost \$23,761.79		
		Total Produc	t: 38.89	Total Cost:	\$23,761.79		

Dimethoate 4 EC (Helena Chemical Company)

Name Wheat - Fungicide and Zinc	Timing Event	Target Date	Total Product 176.33 gal	Cost / Acre \$2.50	Total Cost \$3,526.60	
		Total Product	: 176.33	Total Cost:	\$3,526.60	
Elatus (Syngent	a)					
Name Potatoes - Elatus	Timing Event	Target Date	Total Product 340.99 lb	Cost / Acre \$24.03	Total Cost \$16,385.06	
		Total Product	: 340.99	Total Cost:	\$16,385.06	
Endigo ZC (Syn	genta)					
Name Potatoes - Endigo	Timing Event	Target Date	Total Product 15.98 gal	Cost / Acre \$5.62	Total Cost \$3,835.20	
		Total Product	_: 15.98	Total Cost:	\$3,835.20	
Foliar Triggrr (W	Vestbridge Ag	ricultural Pr	oducts)			
Name Potatoes - Foliar	Timing Event	Target Date	Total Product 729.73 gal	Cost / Acre \$12.02	Total Cost \$8,194.63	
		Total Product	_: 729.73	Total Cost:	\$8,194.63	
Gramoxone SL	2.0 (Syngenta)				
Name Almonds - Burn Down	Timing Event Growing	Target Date	Total Product 69.86 gal	Cost / Acre \$4.50	Total Cost \$1,257.46	
	Ü	Total Product	•	Total Cost:	\$1,257.46	
Ground Applications - acre (Services)						
Name Potatoes - Omega	Timing Event	Target Date	Total Product 681.99 ac.	Cost / Acre \$7.50	Total Cost \$5,114.91	
Application		Total Product	: 681.99	Total Cost:	\$5,114.91	
Harvest (Services)						
Name Potato Harvest	Timing Event	Target Date	Total Product 681.99 ac.	Cost / Acre \$18.00	Total Cost \$12,275.77	
		Total Product	_: 681.99	Total Cost:	\$12,275.77	

Harvest: Hull & Shell (Elevator) (Unspecified)

Name Almonds - Harvest	Timing Event Harvest	Target Date Total Produc	Total Product 279.44 ac. t: 279.44	Cost / Acre \$161.00 Total Cost:	Total Cost \$44,989.19 \$44,989.19
Harvest : Pickup	o Nuts (Unspe	ecified)			
Name Almonds - Harvest	Timing Event Harvest	Target Date Total Produc	Total Product 279.44 ac. t: 279.44	Cost / Acre \$31.00 Total Cost:	Total Cost \$8,662.51 \$8,662.51
Harvest : Pole N	Nuts (Unspeci	fied)			
Name Almonds - Harvest	Timing Event Harvest	Target Date Total Produc	Total Product 279.44 ac. t: 279.44	Cost / Acre \$200.00 Total Cost:	Total Cost \$55,887.19 \$55,887.19
Harvest : Shake	Trees (Unspe	ecified)			
Name Almonds - Harvest	Timing Event Harvest	Target Date Total Produc	Total Product 279.44 ac. t: 279.44	Cost / Acre \$11.00 Total Cost:	Total Cost \$3,073.80 \$3,073.80
Harvest : Sweep	o & Rake (Uns	specified)			
Name Almonds - Harvest	Timing Event Harvest	Target Date Total Produc	Total Product 279.44 ac. t: 279.44	Cost / Acre \$17.00 Total Cost:	Total Cost \$4,750.41 \$4,750.41
Irrigation Acre I	nch (Services)			
Name Almonds - Irrigation	Timing Event Growing	Target Date Total Produc	Total Product 1,886.19 ac in 1,886.19 ac in 2,514.92 ac in 2,864.22 ac in 2,375.21 ac in 1,816.33 ac in 1,257.46 ac in 628.73 ac in 2,794.36 ac in t: 18,023.62	\$148.50 \$148.50 \$198.00 \$225.50 \$187.00 \$143.00 \$99.00 \$49.50 \$220.00 Total Cost:	Total Cost \$41,496.24 \$41,496.24 \$55,328.32 \$63,012.81 \$52,254.53 \$39,959.34 \$27,664.16 \$13,832.08 \$61,475.91 \$396,519.63

KTS 0-0-25+17S (Tessenderlo Kerley, Inc.)

Name Almonds - Fertility Almonds - Fertilizer Almonds - Fertilizer Almonds - Fertilizer Almonds - Fertilizer	Timing Event Growing Growing Growing Growing Growing	Target Date Total Produc	Total Product 6,985.90 gal 6,985.90 gal 6,985.90 gal 7,544.77 gal 6,985.90 gal t: 35,488.37	\$30.55 \$30.55 \$30.55 \$30.55 \$33.00 \$30.55	Total Cost \$8,537.28 \$8,537.28 \$8,537.28 \$9,220.26 \$8,537.28 \$43,369.37
Luna Sensation	(Bayer CropS	Science)			
Name Almonds - Alternaria & Hull Rot	Timing Event Growing	Target Date	Total Product 30.56 gal	Cost / Acre \$67.19	Total Cost \$18,776.06
Tuli Not		Total Produc	t: 30.56	Total Cost:	\$18,776.06
Max-In Zinc (W	infield Solutio	ns, LLC)			
Name Wheat - Fungicide and	Timing Event	Target Date	Total Product 352.67 gal	Cost / Acre \$6.25	Total Cost \$8,816.65
Zinc		Total Produc	t: 352.67	Total Cost:	\$8,816.65
Minecto Pro (Sy	/ngenta)				
Name Almonds - Minecto Pro	Timing Event Growing	Target Date	Total Product 26.20 gal	Cost / Acre \$24.00	Total Cost \$6,706.46
		Total Produc	t: 20.20	Total Cost:	\$6,706.46
MSO (Fertilizer	Company of	Arizona, Inc)		
Name Potatoes - Reglone	Timing Event Growing	Target Date	Total Product 170.50 gal	Cost / Acre \$7.50	Total Cost \$5,114.91
		Total Produc	t: 170.50	Total Cost:	\$5,114.91
Omega 500F (S	iyngenta)				
Name Potatoes - Omega Application	Timing Event	Target Date	Total Product 42.62 gal	Cost / Acre \$25.62	Total Cost \$17,474.20
, ppiloadon		Total Produc	t: 42.62	Total Cost:	\$17,474.20
Orion (Syngent	a)				

Timing Event

Name

Total Product

Target Date

Total Cost

Cost / Acre

Work Order Product Summary

Wheat - Weed Spraying		Total Product	187.35 gal _: 187.35	\$6.91 Total Cost:	\$9,742.20 \$9,742.20			
PCA/CCA Fee (PCA/CCA Fee (Unspecified)							
Name Almonds - PCA/CCA	Timing Event Growing	Target Date Total Product	Total Product 279.44 ac. 279.44	Cost / Acre \$35.00 Total Cost:	Total Cost \$9,780.26 \$9,780.26			
Planting (Servic	es)							
Name Potatoes - Planting	Timing Event	Target Date Total Product	Total Product 681.99 ac. 681.99	Cost / Acre \$15.00 Total Cost:	Total Cost \$10,229.81 \$10,229.81			
Pollination Bees	s (Services)							
Name Almonds - Pollination	Timing Event Growing	Target Date Total Product	Total Product 279.44 ac. 279.44	Cost / Acre \$400.00 Total Cost:	Total Cost \$111,774.39 \$111,774.39			
Potato Seed (Po	ublic)							
Name Potatoes - Planting	Timing Event	Target Date Total Product	Total Product 15,003.72 bag 15,003.72	Cost / Acre \$330.00 Total Cost:	Total Cost \$225,055.80 \$225,055.80			
Proclaim (Synge	enta)							
Name Almonds - Proclaim & Warrior	Timing Event Growing	Target Date	Total Product 83.83 lb	Cost / Acre \$14.38	Total Cost \$4,017.97			
		Total Product	: 83.83	Total Cost:	\$4,017.97			
Quadris Top (Syngenta)								
Name Almonds - Quadris Top	Timing Event Growing	Target Date Total Product	Total Product 30.56 gal : 30.56	Cost / Acre \$49.99 Total Cost:	Total Cost \$13,970.29 \$13,970.29			
Quash Fungicide (Valent U.S.A. Corporation)								
Name Almonds - Alternaria & Hull Rot	Timing Event Growing	Target Date	Total Product 61.13 lb	Cost / Acre \$41.00	Total Cost \$11,456.96			
		Total Product	: 61.13	Total Cost:	\$11,456.96			

Quilt	Xcel	(Syngenta)
~ 01110	, ()	(3)119011001

Name	Timing Event	Target Date	Total Product	Cost / Acre	Total Cost		
Wheat - Weed Spraying			132.25 gal	\$17.21	\$24,281.06		
		Total Product	132.25	Total Cost:	\$24,281.06		
Reglone (Synge	enta)						
Name	Timing Event	Target Date	Total Product	Cost / Acre	Total Cost		
Potatoes - Regione	Growing	raiget Date	170.50 gal	\$21.25	\$14,492.23		
3	3	Total Product	•	Total Cost:	\$14,492.23		
D T (6							
Revus Top (Syn	genta)						
Name	Timing Event	Target Date	Total Product	Cost / Acre	Total Cost		
Potatoes - Revus			34.10 gal	\$8.71	\$5,942.06		
		Total Product	34.10	Total Cost:	\$5,942.06		
Spraying - Air 5	GPA (Service	es)					
Nome	Timing Front	Townst Date	Total Product	Cost / Asso	Total Cost		
Name Potatoes - Endigo	Timing Event	Target Date	681.99 ac.	Cost / Acre \$3.00	\$2,043.94		
Potatoes - Aerial Spray			681.99 ac.	\$3.00	\$2,043.94		
, ,		Total Product	1,363.97	Total Cost:	\$4,087.88		
Caravina (Carvi	505)						
Spraying (Service	LES)						
Name	Timing Event	Target Date	Total Product	Cost / Acre	Total Cost		
Almonds - Besiege	Growing		279.44 ac.	\$11.00	\$3,073.80		
Almonds - Zeal Miticide	Growing		279.44 ac.	\$11.00	\$3,073.80		
Spray Almonds - Alternaria & Hull Rot	Growing		279.44 ac.	\$11.00	\$3,073.80		
Almonds - Minecto Pro	Growing		279.44 ac.	\$11.00	\$3,073.80		
Almonds - Inspire Super	Growing		279.44 ac.	\$11.00	\$3,073.80		
Almonds - Quadris Top	Growing		279.44 ac.	\$11.00	\$3,073.80		
Almonds - Vanguard	Growing		279.44 ac.	\$11.00	\$3,073.80		
Almonds - Broadworks &	Growing		279.44 ac.	\$11.00	\$3,073.80		
Alion		Total Product	2,235.49	Total Cost:	\$24,590.36		
Spreading (Services)							
Name	Timing Event	Target Date	Total Product	Cost / Acre	Total Cost		
Almonds - Clinch - Ant Bait	Growing	901 = 410	279.44 ac.	\$7.25	\$2,025.91		

Work Order Product Summary

Potatoes - Urea			681.99 ac.	\$7.25	\$4,944.41	
Application		Total Produc	t: 961.42	Total Cost:	\$6,970.32	
Storage (Servic	es)					
Name Potato Storage	Timing Event	Target Date	Total Product 681.99 ac.	Cost / Acre \$14.00	Total Cost \$9,547.82	
		Total Produc	t: 681.99	Total Cost:	\$9,547.82	
Structure (Acta	gro LLC)					
Name Potatoes - Fertilizers	Timing Event Pre-Plant	Target Date	Total Product 3,409.94 gal	Cost / Acre \$20.00	Total Cost \$13,639.75	
Folatoes - Fertilizers	rie-riant	Total Produc	, 0	Total Cost:	\$13,639.75	
Trivapro (Synge	enta)					
Name	Timing Event	Target Date	Total Product	Cost / Acre	Total Cost	
Wheat - Fungicide and Zinc			141.07 gal	\$17.31	\$24,422.83	
		Total Produc	t: 141.07	Total Cost:	\$24,422.83	
UAN-32 (JR Sin	nplot Compar	ny)				
Name	Timing Event	Target Date	Total Product	Cost / Acre	Total Cost	
Wheat - Weed Spraying Wheat - Top Dress			14,106.64 gal 14,106.64 gal	\$15.20 \$15.20	\$21,442.09 \$21,442.09	
rmaar rop Broos		Total Produc	t: 28,213.28	Total Cost:	\$42,884.19	
UN-32 (JR Simplot Company)						
Name	Timing Event	Target Date	Total Product	Cost / Acre	Total Cost	
Almonds - Fertility	Growing		3,353.23 gal	\$24.00	\$6,706.46 \$6,706.46	
Almonds - Fertility Almonds - Fertilizer	Growing Growing		3,353.23 gal 3,353.23 gal	\$24.00 \$24.00	\$6,706.46 \$6,706.46	
Almonds - Fertilizer	Growing		3,353.23 gal	\$24.00 \$24.00	\$6,706.46	
Almonds - Fertilizer	Growing		3,073.80 gal	\$22.00	\$6,147.59	
	Ü	Total Produc	t: 16,486.72	Total Cost:	\$32,973.44	
Vangard WG (Syngenta)						
Name	Timing Event	Target Date	Total Product	Cost / Acre	Total Cost	
Almonds - Vanguard	Growing		2,794.36 dry oz.	\$53.40	\$14,921.88	
		Total Produc	t: 2,794.36	Total Cost:	\$14,921.88	

Total Cost:

Warrior II with Zeon Technology (Syngenta)

Name Almonds - Proclaim &	Timing Event Growing	Target Date	Total Product 5.59 gal	Cost / Acre \$6.00	Total Cost \$1,676.62		
Warrior		Total Produc	t: 5.59	Total Cost:	\$1,676.62		
Zeal Miticide(1) (Valent U.S.A. Corporation)							
Name Almonds - Zeal Miticide	Timing Event Growing	Target Date	Total Product 52.39 lb	Cost / Acre \$51.00	Total Cost \$14,250.08		
Spray		Total Produc	t: 52.39	Total Cost:	\$14,250.08		
Zinc 10% (Winfield Solutions, LLC)							
Name Potatoes - Fertilizers	Timing Event Pre-Plant	Target Date	Total Product 681.99 gal	Cost / Acre \$12.25	Total Cost \$8,354.84		

Total Product: 681.99

\$8,354.84